WL 48 A9HMER2021-2022224E B — L W b 22 3R 8

L8l

1. B

ERIEE 4={xj0cx<2) » B=lx[i<x<3) » W 4= C )

A (x|0<x<3) B. {x[1cx<2} C. {0,1,2,3} D. 11,2}

2. Bk

BRI f(2)=2 > W r9)= C D

A -4 B.2 C.4 D. 16

3. BIERE &

E4x €R, M“x <1"B“|q<1 "B C )

A TR RIBEFM B. W EARTE > FA C. mEFRM D. BEAR78 0 XA 5%
(i3

4. Bk

%ﬁfﬁ‘.‘ij Pt dxeN » ¥ 41<0 0 )ﬂﬂﬁb’%ﬂ P E"]ﬁ%% ( )

A vxeN s 4120 B.wrgN s 20 C. 3peN5/ 71120 D. vyeN >
+1<0

5. HLi%

E%ﬂ% { x )| y=x? > ’ I(L_1.‘:]|.‘r=1} >, AB E‘Jfﬁ%jl\ﬁj? C D

A0 B. 1 .2 D. 08(1

6. BAI%E

L %0 R 3 _f'[x}=x3+E—1 1 [m,n) L H R KE N2, T flx) 1E [-n,—m| ERsAMEN C D
A 5kFR B.-13 C.-12 D. -14

7. B

W R £(x) { 1::00 NTES - i, a+h {u b) f(a-b) HIERE ()
A. A B. B C A B ':Pi-lg‘zj(% D A 0 Iis ]:Pﬁlj\%

8. HLI% B
AR f(x)=x'+m » EFEER 4, 5, FEY s(x) & [Va,\b] TEMESN [Jab] »
Mse¥ . FMEEEEZ ¢ )

A. 0%] B. |r—ao.%\] &] D. |(_ao,{‘
L 4 b / L 4 L 4

9. B
B 40 B 3 Flx)=x"-x+— {r:»n] , MITHHEAEHKRE C )

A. F(x) 1 (1,4e) jﬂi@@ﬁl B. f(x) E’J%’J‘{Ej‘jl C.IEE » » x, £(0,40) H X #E X,




